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8.283477 4+ 30687+ 37067 = 250057 4 0032l
9.33057%7 4+ 0032?14 27884 = 300057 4 22538°
10. 332577 4+ 278867 4+ 86147 = 446157+ 37067
11. 339577 4 00327 4 30487 = 353007 4+ 3706

B

12. 339578 + 3068% + 86147 = 259950 + 22538

(71)4=191,m=73,n=26,p=59

2.33957%+ 27886° + 86147 = 44615% + 37967
3.33957% + 27886% + 99327 = 390058 + 225381

4. 33957 + 56147 + 30687 = 269957 + 225387

5.28347%+ 22538% + 3068° = 35309% + 86147

7.28347% + 27886 + 3798° = 39005% + 36147
8. 283477 + 3795% + 30684° = 26995% +- 99327
9. 376537 + 99327 + 22538% = 353097 + 2758867
10. 37653 + 22538% + 8614% = 24615 + 3068°
11. 37653 + 993 2% + 379582 = 39005% + 3058°

12. 37653 + 3796% + 86147 = 26995% + 278861

(+)£=191,m=73,n=59,p=26

1.283477+ 225387 + 30687 = 3530387 + 8614
2.28347% + 27886% + 3796% = 39005% + 36147
3.28347%+ 27886% + 22538 = 446157 + 9932
4. 28347 + 3796 + 3068% = 269957+ 99327

5.33957% 4+ 09327 + 30687 = 353097 + 3796°

7.33957% + 27886% + 8614 = 446157 + 37987
8. 33957 + 8614% + 3068%= 269957 + 225387
9.37653% + 22538% + 9932% = 353092 + 27836°
10. 37653% + 9932° + 3796% = 39005% + 30687
11. 37653% + 225387 + 8614% = 246157 + 30651

12. 37653 + 86147 + 3796 = 269957 + 278861

(+ )4=26,m=191,n=59,p=73

2. 376532+ 9932% + 27886% = 390058 + 225381
3.33957% + 99327 + 30687 = 35309% + 37947
4, 33957+ 27886° + 8614% = 446157 + 37961

5. 376537+ 3796 + 56147 = 269957 + 275861

7.37653% +9932% + 22538% = 353092 + 275867
8. 376537 + 22538% + 8614% = 44615% + 30687
9. 283477 + 30687 + 37967 = 26995% + 00327
10. 28347 + 3796% + 27886° = 39005° + 36147
11. 28347 + 3068% + 22538% = 35309 + 35147

12. 28347  + 22538 + 27886° = 446157 + 9932°

(" )4=26,m=191,n=73,p=59
1. 37653
2.37653% + 9932% + 22538% = 35309% + 27886°
3.37653% + 993 2% + 3796% = 39005% + 30687
4, 37653+ 22533% + 8514% = 24515% + 3068°

5.335957%+ 3068° + 86147 = 269957 + 225387

7.33957% + 9932% + 27886° = 39005% + 22538°
8. 33957 + 27885% + 85147 = 44515 + 3797
9. 28347 + 3796 + 30687 = 269957+ 99327
10. 28347% + 3068° + 22538% = 353092 + BA147
11. 28347% + 3796% + 27886% = 390057 + 86147

12. 28347% + 27886% + 225387 = 246157 + 99327

(]v+)4=26,m=73,n=191,p=59
1. 376537 + 59327 + 225387 = 353
2.37653%+ 3796% + 86147 = 26995% + 278867
3.37653%+ 3796 + 99327 = 39005° + J068°

4.37653% + 56147 + 22538° = 446157 + 30687

5.253472 + 30868° + 225387 = 353097 + 514?

(4 )#=26,m=59,n=191,p=73

1.33857 + 27886% = 390057 + 22538¢
2.33957% + 3068° + 86147 = 269957 + 225387
3.339577 + 3068° + 9932% = 353007 + 3796°
4.33957% + B614% + 27886° = 446157 + 37967

5. 253471 + 37967+ 27886 = 39005° + 55147
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7.283477 4 37087 + 27886% = 300057+ Ba14°
8. 283477+ 278857 + 225387 = 444157 4 032!
9.330957% + 00322 4 304887 = 353087 + 37047

10. 330577 + 30687 4+ 86147 = 280057 4 225387
11.33057% 4+ 003224 27888 = 300057 + 22538°
12.33057% 4 278867 + Be14% = 448157 4 37060

7.28347% 4+ 30687 4+ 225387 = 353007 + 85147
8.283477 4+ 225387 4 278887 = 446157 4 0032¢
9.37853% + 00327 4 37087 = 300057 + 30687
10. 376537 4+ 3706° + 86147 = 250057 + 278867
11. 376537 4+ 00327 4 225387 = 35300+ 278847
12. 3765374+ 225387 4 B614% = 446157 + 30887

(4 = )#=26,m=59,n=73,p=191

1. 28347% + 3796% + 278867 = 39005% + 86147
2.28347% + 30687 + 22538% = 35309% + 36147
3. 28347 + 3068% + 37957 = 26995 + 99327
4. 283477 + 22538% + 27386° = 44615% + 99327

5.33957%+ 99327 + 27886° = 390057 + 2225387

7.33957% + 30687 + 36147 = 269957 + 225387
8. 339577 + 56147 + 27886° = 44615% + 37967
9. 376537 + 3796% + 99327 = 39005% + 3065°

10. 37653 + 9932% + 22538% = 35309 + 27886°
11. 37653 + 3796° + B614% = 269952 + 27886>

12. 37653+ 8614% + 22538° = 44515% + 30681

(4 = )£=26,m=73,n=59,p=191

1. 283472 + 3068° + 22538° = 35309° + 85142
2.28347% + 3796 + 27886° = 39005% + 36147
3.28347% + 3796% + 3796% = 269957 + 99327
4. 28347 + 27886% + 22538% = 445152 + 9932°

5. 37653+ 99322+ 22538% = 35309% + 278847

7. 37653° +3796% + 8614% = 269952 + 2758867
8. 37653% + 85147 + 225387 = 24515% + 30687
9.33957% + 3068% + 99327 = 353097 + 37967
10. 33957% + 9932% 4 27886% = 390052 + 22538°
11. 33957% + 3068° + 8614% = 269957 + 225387

12. 33957° + 86147 + 27886% = 44615 + 3795

(H = )4£=59,m=191,n=73,p=26

1. 37653% + 56147 + 37967 = 26995
2. 376537 + 22538% + 9932% = 353092 + 275867
3. 376537 + 22538% + 8514% = 44615% + 30687
4. 376537 + 99327 + 37967 = 39005°% + 30651

5.28347% + 3068% + 37967 = 26995% + 99322

7. 283472 + 22538% + 27886% = 44615% + 99327
8. 283477 + z7888% + 3798% = 39005% + 36147
9. 339577 + 56147 + 3068% = 269957 + 225387
10. 33957 + 3068% + 99322 = 35300% + 37961
11. 33957 + 8614% + 27886° = 44615% + 3797

12. 33957  + 27886° + 9932° = 390052 + 22538°

(4 P4)£=59,m=191,n=26,p=73

1. 283477 + 3068° + 37967 = 26995
2.28347% + 225387 + 27885° = 446157 + 9932°
3.28347% + 225387 + 3068% = 353097 + 36147
4, 28347 + 27886% + 3795% = 39005° + 3614°
5.37653% + 8614% + 3796% = 26995% + 278887
7.37653% + 225387 + 9932% = 35309% + 27886°
8.37653% + 9932% + 37957 = 39005% + 30587

9.33957% + 3068% + 86147 = 269557 + 225387

k3

10. 33957° + 86147 + 27886% = 446157 + 3796
11. 33957% + 3068% + 99327 = 35309% + 37947

12. 33957 + 9932 + 27886° = 39005% + 225387

(4 =)#=59,m=73,n=191,p=26

7886

(%]

235 +
2.37653% + 6147+ 37967 = 26995° + 275867
3.37653% + 6147 + 22538° = 446157 + 30687
4. 37653+ 3796% + 99327 = 39005° + 3068°

5.339572 + 30687 + 99327 = 353087 + 37947

(H + )£=59,m=73,n=26,p=191

1. 339572 + 30657 + 99322 = 353097 + 37961
2.339571 + 36147 + 278887 = 446157 + 37987
3.33957% + 8614% + 3068% = 260952 + 225387

4.33957% + 278867 + 99327 = 390052 + 22538°

5.37653% + 225387 + 99328 = 353097 + 27888¢
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7.330577 4 26147 4 278887 = 448157 4+ 37061 7.37653% 4+ 86147 4+ 37087 = 280057 4 27886¢
8339572+ 278868 + 99328 = 300052 + 225387 | 8.37653% + 37967+ 99328 = 350057 + 3068°
9.28347% 4+ 225387+ 30887 = 353007 + 86147 9.283477 4+ 30687+ 225387 = 353097 4 BE14°
10. 28347% + 30687 4+ 37067 = 260057 4 003’ 10. 2834774 225387 4+ 278887 = 444157 4 o032t
11.28347%+ 225387 + 27886% = 446157+ 99327 | 11. 283478 + 30685 + 3796 = 269057 + g3t
12. 28347+ 278867 4+ 37968 = 300058 + 86147 | 12. 283478 + 37988 + 278868 = 390058 + 86141
(4 -~ )#=59,m=26,n=191,p=73 (4 ’*)£=59,m=26,n=73,p=191

1. 28347 + 225358% + 27886% = 44515° + 99327 1. 33957% + 8614% + 27886° = 44615% + 37967
2. 28347 + 3068% + 37957 = 26995 + 99327 2.33957% + 3068° + 99327 = 353097 + 37967
3.28347% + 30687 + 22538% = 35309% + 36147 3.33957% + 3796 + B614% = 269957 + 225387
4. 283477 + 3795% + 27886° = 39005% + 36147 4.33957% + 9932% + 27886% = 39005% +22538°
5.33957% + 8614+ 278867 = 44615% + 37947 5.28347%+ 22538% + 27885° = 446157 + 9932°
7.33957% + 3068% + 99327 = 353097 + 37947 7.28347% + 3068% + 22538% = 269957 + 99322
8. 339577 + 99327 + 27886% = 39005% + 225387 8. 28347 + 3796% + 27886° = 39005° + 36147
9. 376537 + 22538% + 8614% = 24515% + 3068% 9.37653% + 86147+ 22538% = 245615% + 3068°
10. 37653 + 8614% + 3795% = 269952 + 27886° 10. 37653% + 22538% + 3795% = 353092 + 27886°
11. 37653% + 22538% + 99327 = 35309% + 27886° | 11. 37653% + 8614% + 37967 = 269957 + 278867
12. 37653% + 993 2% + 379587 = 39005% + 3058° 12. 37653% + 3796% + 9932 = 39005% + 30687
(H Jv)£=73,m=59,n=26,p=191 (= - )£=73,m=59,n=191,p=26

1. 37653% + 3796% + 99327 = 39005% + 30687 1. 33957 + 27886° + 9932° = 39005% + 22538°
2. 37653% + 86147 + 22538% = 44615% + 30687 2.33957% + 8614% + 3068% = 269957 + 225387
3.37653% + 86147 + 37967 = 26995 + 278867 3.33957% + 8614% + 27886° = 446157 + 37987
4. 376537 + 22538% + 9932% = 35309% + 2758867 4.33957% + 3068% + 99327 = 35309% + 37967
5.33957% + 27886% + 9932% = 390052 + 225357 5.37653% + 3796 + 99327 = 39005% + 30687
7.33957% + 86147 + 30687 = 26995 + 225387 7.37653% + 8614% + 22538% = 44615% + 30587
8. 339577 + 30687 + 99327 = 353097 + 37947 8.37653% + 22538% + 9932% = 353092 + 27836°
9. 283477 + 3795% + 27886° = 39005% + 36147 9. 28347 + 27885% + 3795% = 39005 + 36147
10. 23347 + 27886% + 22538% = 446157 + 9932° | 10. 28347% + 3796 + 3068% = 269957 + 99327
11. 23347 + 3796% + 3068% = 26995% 4 0032? 11. 28347% + 27886% + 22538% = 44515% + 9932¢
12. 28347 + 3068% + 22538% = 35309 + 35147 12. 28347 + 225387 + 3068% = 353092 + BA147
(= — )£=73,m=191,n=59,p=26 (= = )£=73,m=191,n=26,p=59

1.33957% + 56147 + 30657 = 269957 + 225387 1. 263877 +3796% + 3068° = 269957 + 99327
2.33957% + 27886° + 99327 = 390057 + 225387 2.28347% + 27886° + 22538 = 446157 + 9932°
3.33957%+ B6147 + 27886° = 446157 + 37967 3.28347%+ 27886% + 3796° = 390057 + 56147
4.33957% + 3068% + 99327 = 353097 + 37967 4. 283477+ 225367 + 3068 = 353097 + 56147
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5.28347%+ 37962 + 30688 = 260052 + go32!

7.28347% 4 278857 + 225387 = 445157 4 0o32?
8. 283477+ 225387+ 30887 = 353007 + 86147
9.37653° + 26147 + 37087 = 260057 4+ 278887
10. 37653% + 379674+ 00327 = 300057 + 3058°
11. 376537 + 86147 4+ 225387 = 445157 + 30887
12.37653% + 225387 4 0032 = 353007 4 27886°

5.339571 + 86147 + 3068% = 269957 + 225380

7.33057% 4 278887 + 00327 = 300057 + 22538°
8.330577 4+ 0032?74 30687 = 353007 + 3728%
9.37853% 4+ Ba14% 4+ 37047 = 250057 4 27885¢
10. 37653% 4+ 8514° + 225387 = 446157 + 305887
11. 376537 4+ 3706° + 00327 = 300057 4 3088°
12. 376537 4 00327 ¢ 225387 = 353007 4 27888°

(= = )4=73,m=26,n=59,p=191
1. 37653° + 56147 + 22538 = 44615% + 30687
2. 37653% + 37967 + 99327 = 39005% + 30587

3. 37653% + 37967 + 36147 = 26995 + 278867
4. 376537 + 99327 + 22538% = 353097 + 2758867

5.28347% + 27886% + 225387 = 446157 + 9932?

7. 28347 + 37967 + 30687 = 26995 + 99327

8. 283477 + 3068 + 225358% = 35309% + 36147
9. 339577 + 56147 + 27886° = 44615% + 3796°
10. 33957% + 27886% + 9932% = 39005° + 22538°
11.33957% + 8614% + 3068% = 26995% + 225 38°

12. 37653 + 3068% + 99327 = 35309% + 3794°

(= PH)£=73,m=26,n=191,p=59

2. 283472+ 3796 + 30687 = 269957 + 9932’
3. 283472+ 379&% + 27886° = 39005° + 86147
4, 23347+ 3068% + 22538° = 35309°% + 86147

5.37653%+ B614% + 22538% = 44615% + 30687

7.37653% + 3796 + 99327 = 39005% + 30687
8.37653% + 9932% + 22538% = 35309 + 27836°
9.33957% + 27885% + 8514% = 44515 + 3797
10. 33957% + 3614* + 30687 = 26995% + 225387
11. 33957% + 27886% + 9932% = 390052 + 22538°

12. 37653° + 99327 + 3068% = 35309°% + 37947
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